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Example Z : Queve

Customers axrive for a service 4 wait in line unthl|
Hreiv torn.
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EXMV\fl& 3 1 Success Runs

Consider a Markov chaan on Hhe nonnij. in%jus (Z+)
mPn 2 Fossilolc outromes 1 success (5) or failuve (F) ,
rbpec&cc{ +Hrials (i.c'.d.).
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= 2 of successes since the last failvre

Xn= 0 f the ovivome (af +ime V\) s F

Transiton Probabilities: Py = P(Xnwi =] [Xn=0)

Pt g ——
P‘:j = q it > = Q Mar kov sine &
O oHwrwise trnals we /
mdep. T
o 1 2 3 4 - ~ |
O ro] p O O - -~
=119 o po
29 o o P
/17 0 o o p
fiofpion : e :
Suecess ot of lemghn v at haf n f ovfremes in the FreCeeddﬁj
r+| Mals indmh:j wrrent trial weve FS S ---5 .

e

B S

 sweesses

S s g



